
Two-Digit Addition (D)

29 + 89 = 64 + 99 = 47 + 19 =

60 + 10 = 59 + 87 = 12 + 20 =

80 + 33 = 21 + 94 = 78 + 48 =

16 + 80 = 51 + 36 = 75 + 41 =

13 + 94 = 91 + 79 = 16 + 39 =

15 + 97 = 52 + 27 = 97 + 32 =

82 + 89 = 32 + 54 = 94 + 80 =

12 + 59 = 92 + 54 = 90 + 30 =

18 + 98 = 36 + 71 = 29 + 12 =

43 + 42 = 60 + 42 = 80 + 48 =

87 + 55 = 23 + 89 = 25 + 96 =
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Two-Digit Addition (D) Answers

29 + 89 = 118 64 + 99 = 163 47 + 19 = 66

60 + 10 = 70 59 + 87 = 146 12 + 20 = 32

80 + 33 = 113 21 + 94 = 115 78 + 48 = 126

16 + 80 = 96 51 + 36 = 87 75 + 41 = 116

13 + 94 = 107 91 + 79 = 170 16 + 39 = 55

15 + 97 = 112 52 + 27 = 79 97 + 32 = 129

82 + 89 = 171 32 + 54 = 86 94 + 80 = 174

12 + 59 = 71 92 + 54 = 146 90 + 30 = 120

18 + 98 = 116 36 + 71 = 107 29 + 12 = 41

43 + 42 = 85 60 + 42 = 102 80 + 48 = 128

87 + 55 = 142 23 + 89 = 112 25 + 96 = 121
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